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Defining Sectors

You will have until

in order to go through the
slidedeck and answer the
questions in the YELLOW boxes




o HAVE LEARNED

~ }  Holdup your fingers:
W 1= primary, 2= secondary, 3= tertiary
4= quaternary, 5= quinary
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GLOBALGDP "

Gross domestic product (GDP) serves as a barometer for a country’s
economic health. It measures the total market value of final goods
and services produced in a country during a given year.

Together, the U.S. and China account for 42% of global GDP.
Here is GDP by country according to IMF estimates.
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Manufacturing makes up roughly
25% of China’s GDP—higher than
both Japan (20%) and Germany (18%).
Source: World Bank
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The finance, insurance, and real
estate industry contributes
roughly $4.7T to U.S. GDP.
Source: Statista

= Germany
$4.23T

(«J Canada
$2.02T

< Only 18 countries have a
AN greater than 1% share of
At
\\} the world economy.
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TRUE oR FALSE

Many periphery countries were once colonized
TRUE!

ExpLoi’ra’rion of the periphery goes back to the
imperialism HOWEVER...

periphery gives the core cheap materials & labor




TRUE oR FALSE

A drawback of the World Systems Theory is that a
country is often stuck in their position

TRUE!

There is little opportunity for peripheral economies
to advance into the wealthy core
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WALLERSTEIN &
SECTORS

Use the charts in order to
make connections between

types of sectors and the
World System Theory




14572 M5 067 4 5757 B 6133%)

B R M mey P 69\157: 68107 67/93% M6 8112 G 8132%

EE 19.63%
o o [l 19-15%) y 19.67%|l 19. X
. 1925% M 15175l 16 400l 1768% 18.61% . 19.76%

TIIT TS TISE VB V0B TERE TEE TOSES TOED TGRS

23.68% 22.85% 1 22.81%M22.63% M >> 529

%10.91% M 1028% 0 9.9% 11 16% R 12131% M 12221% I 12'58% [l 12'4% [ 12:11% 11 89%

11 2012 2013 14 2015 6 7 2018 2019 2020 2013 2013

@ Agriculture @ Industry © Services @ Agriculture @ Industry © Services ® Agriculture @ Industry @ Services

Identify which country, based on the data, is most likely part
15 _of the CORE, PERIPHERY, and SEMI-PERIPHERY.
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itionally Weber's least costheavily emphasized fransportation costsasthe
major factor for where to locate manufacturing. Explain what has changed that has
_Teaused many companies to locate their manufacturing in a PERIPHERY or
SEMI-PERIPHERY country even if it is farther away.
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Hany SEMI-PERIPHERY countries have what is called a ‘dual economy’ where a

substantial share of the workers are split between primary and secondary sectors.
———Expldinwhy-acountry that is considered semi=periphery-or-periphery has a dual
economy.







Location for industry
(secondary sector) is based on
transportation costs

however...

Changes in fechnology and
materials have made labor

costs a more significant factor
today for locations of
industries




BuLk REpUCING VS BULK GAINING

Factory Market

Factory Market




BREAK-0F-BULK

Container ships=is a
cargo ship that carries

all of its load in

truck-size intermodal
containers




AGGLOMERATION

Silicon Valley= serves as a
global center for high
technology and innovation

Takes advantage of
specialized labor,
materials, and services
More tech companies
draw more tech

companies
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EsseENTIAL KNOWLEDGE
Quiz!




At the moment, what job

would you like to have
and what sector is it a
par’r of?




